
1) An amount was increased by 10% to 
$357.00. Find the original amount.

Answer: ____________

2) Find the percentage change from 14 to 
21

Answer: ____________

3) 2000 ÷ 1000

Answer: ____________

4) 1200 ÷ 100

Answer: ____________

5) 90 ÷ 10

Answer: ____________

6) 10 ÷ 10

Answer: ____________

7) An amount was decreased by 1% to 
$220.00. Find the original amount.

Answer: ____________

8) An amount was decreased by 6.2% to 
$459.00. Find the original amount.

Answer: ____________

9) An amount was decreased by 9% to 
$289.00. Find the original amount.

Answer: ____________

10) Find the percentage change from 20 
to 28

Answer: ____________

Total: ___ / 10
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Answers:

1) $324.55 2) 50% 3) 2 4) 12 5) 9 6) 1 7) $217.80

8) $430.54 9) $262.99 10) 40%
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